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'STD 8 - YEAR 2020
MATHEMATICS

READ THESE INSTRUCTIONS CAREFULLY.

1. You have been given this question paperand a se

2. Make sure that you have written on the answer shest.

(i) Your name

(ii)) Name of your school

Time : 2 Hours

parate answer sheet. The question paper contains 50 questions.

Write the numbers which is 1000000 more

than 60350964 in words

A. six hundred and three million fifty
thousand nine hundred and sixty four

B. six one million four hundred and fifty
thousand nine hundred and sixty four

C. fifty nine million three hundred and fifty
thousand nine hudnred and sixty four

D. Sixty one million three hundred and fifty
thousand nine hundred and sixty “our

What is the value of

236 +8x2)_4x2

2(7-5)
A.124 B. 18
C. 14 D.2
What is 5689.99975 rounded off to the
nearest 3 decimal places

A. 6000 B. 5689.9997
C. 5690.000 D. 5689.999
What is the place value of digit 5 obtained
after working out?
367502 + 5=
A. 500 B. thousands
C. hundreds D.tens
Simplify
Sx+ 1Y, (Tx+'Ly)
A8 x+ 'Ly B. 6% x+ /8y
C.27x+ 'y D.6%x+ 1Ly
Work out -
48.16 - (4.08 + 1.7)

0.4 :
A. 1059 B. 10.59
C. 11445 D. 105.95

Printed by step flyer

7.

10.

- Arrange the following fractions in ascending

order
3/ 7/ 9/,6, /3

19/ 97 77 3/,
A. /32, /16, /s, /4 ’

37 19 9 7
B. /4, /32, /l 6, /8
C " 9/16, l9/32.3/4, 7/8

7/ 3 19/ 9
D. "%, 2.7 6

What is the value of
9+16

(100-36)
A3, ' B. 1%/,
C.%, D.%,
How many two fifths are there in 30kg?
A.75 B. 65
C.45 D.12

Calculate the area of the shaded part in the
figure below in square metres

A.0.0154
C. 0.0196

B. 0.042
D. 0.0042
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11.

12.

13.

14.

15.

16.

17.

The area of a rectangle below is 75cm?.
Find the value of q

S5em
(q+ 3)em
A. 18cm B. 12cm
C. 40cm D. 15¢m
Solve the equation:
Y,+2(x-2)=3+2x
Al B.2Y,
C.1%, D. 1%,
Work out:
" of 2%, - (1P| + )
AV B. 1%,
C.2%/ D.7/
The area of the figure below is 216cm?
16cm
S > R
12cm
b > o)
What is the length of line PQ
A.20cm ’ B. 15cm
C.36cm D.4cm

A pipe has a diameter of 7cm and 2m long.
What is the its surface area in square
centimetres

A. 4400cm B.4.4cm

C. 440cm D. 44cm

Six women working at the same rate can
complete washing clothes in 8 hours. How
many more hours will it take 4 of the
women to complete the same work?
A.5', B.12

C.3 D.4

Onyango bought 5 packets of sweets @ sh
200 all the sweets in one packet got spoilt.
He sold the remaining packets @ sh 210
what percentage loss did he make?

A.16% B.5%

C. 84% - D.19'.%

18.

19.

20.

21.

22.

23.

24.

What is 6'/, squared?

A.39' B. 2!/,

C.36', D. 12Y/,

A distance of 750m is represented on a
scale drawing by 2.5cm. What is the scale

used on the map
A. 1:1000 B. 1:30000
C. 1:300000 D. 1:300

Edvin and Jared shared some money such
that Edwin got %/, of the money. What was
the ratio of Jared’s share to Edwin’s share?

A.2:3 B.3:5

C.5:3 D. 3:2

How many days are there from 15th July and
* 15th September this year?

A.63 B. 62

C.61 D. 60

The diagram below shows Omollo’s farm.

8Dm

20
w 20dm

8Hm

Calculate the distance around it in metres
A.54m B.720m

C.902m D. 702

Korir is thrice the age of his son. If the sum
of their ages is 60 years. How old will be
Korir in 10 years time.

A.35 B. 45

C.55 . D. 65

A rectangular water tank is length 9m, 8m
wide and 5m high is full of water. If
180,000 litres of water was drawn from this
tank. What is the new height of the tank in
metres
A.2.5m
C.250m

B.25m
D.0.3m
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26.

27.

28

26

30.

Consiruct triangle X'YZ such that XY=8cin
YZ=6cm and XZ=10cm. Draw acircle
touching the edges of the triangle. Whatis
the radius of the triangle

A.Scm B.4cm

C.2.5cm D. 36cm

Three bells are set to ring out at intervals of
4 minutes, 6 minutes and 9 minutes
respectively. If they all ring together now
after how many minutes will they ring
together again?
A.24

C.18

What is the value of
2x+ 1

3y? y?
When x=2 and y=2Xx

A7, B."/,

C.%/, D.Y,

James obtained the following marks in a
mathematics test.

19, 36, 20, 15, 24, 15, 40, 8, 12

What is the sum of the mean, mode and

B.12
D. 36

median of the marks? ’
A.21 B.55
C.19 D. 15

A bag of potatoes weighed 100"/ kg. Jane
bought 15 such bags. She then removed
10.5kg of potatoes from each bag. What
total mass of potatoes remained?
A.13.50kg B.157.5kg
C.1507.5kg D. 1497kg

In the figure below line AB=BC and
AD=CD. Angle ADC=30° and angle
ABC-70°

A D

C

What is the size of angle BCD?
A.130° B.75°
C.55° D. 80°

31.

32.

The temperature of & [rozen nuss ot ice was
0%. After somelnie tie leinperature rose
by 58°c. What was the final reading on the
thermometer

A.48% B. 58%

C. 0% D. 29%

Kamau covered 720m in 36 seconds.
Calculate his speed in kilometers per hour

(km/h)
A. 120km B. 20km/h
- . C.20km/h D. 72km/h

33,

34.

3s.

36.

37.

38.

Kimani received sh 900 as a commission on
goods he sold worth sh 15000. What
percentage commission was he paid

A.6% B.25%

C.9% " D.16%.%

After selling an item a trader realised that he
had made a loss of sh 650. Ifthis
represented 13% loss. Calculate the
marked price of this item.

A.Sh4350 B. Sh 4550
C.Sh 4500 D. Sh 5000
Simplify the inequality below
4y -6<5y+4

2 3
A. 13>y B.>13
C.y>8 D. 13>y

In the year 2017, 375000 seedlings were
planted in Ngong forest. This was 25%
more than the number of trees that had been
planted in the year 2016. How many trees
had been planted in the year 2016

A. 450000 B. 300000

C. 45000 D. 30000

Which of the following quadrilateral has all
the properties below

(i) all sides are equal

(ii) all angles are right angles

(iii) the lengths of the diagonals are equal
(iv) diagonals bisect each other at right

angles
A.Rhombus B. Trapezium
C.Rectangle D. Square
Simplify for p in
3(pt+4)-10=32
A. 10 B. 12%/,
C.11Y, D. 167,
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39.

40.

41.

42.

43.

44.

What is the value of

(40-8) =1 xS~
A.128 B.'/.
C.5. D.8

Kariches bought the following items from a
supermarket

2 packets of unga @ sh 120

kg of sugar @ sh 153

2kg of rice @ sh 78

I packet of salt jor sh 15

He gave the shopkeepers five-200 shillings
notes. What balance did he get?

A.Sh424 B.Sh 876

C.Sh 124 D.Sh114

What is the value of digit 7 in the number
82749567

A. ten thousands B. ten thousands
C.seventhousand  D. seventy thousand
The figure below represents a school
garden. What is the distance round the
garden in metres?

T
8m

f

36m )
864m” |
I 280m’
I
d .
A. 140m B. 80m
C. 160m D. 280m

The table below shows John’s marks in trial
KCPE 2019. The information is
represented on the table below

Subject | Eng]SSR|SCIE[MATH [KISW

Marks 76 |78 88 78

He obtained a total of 400 marks in the test.

What angle would represent English in a pie

chart?

A.68° B. 720

C. 790 D. 67°

A three hour meeting started 50 minutes late
and ended at 3.15 p.m. At what time was the

meeting supposed to start?

A.1l1:25am B. 12:25am

C. 1:15pm D. 11:45am

45.

46.

47.

48.

49.

50.

What is half the value of
2b (a"- ¢) - a° (2b - ¢) given that a=6. b=a-]

and c=a+1
A. 182 B.
C.91 d.

110
50

Caroline deposited sh 600000 in a bank. At.
the end of 3 years she earned an interest of

sh 18000. Calculate the
A.0.9% B.

rate charged
15%

C. 1% D.33'.%
John covered a distance of 36km in half
an hour. What was his speed in m/s

A.72 B.20
C.5 D. 18
An empty carton weighs 750 grams. Twelve

packets of soap powder each weighing
500grams are packed in one carton. What is
the mass of forty such cartons full of soap

inkgs
A.210 B.

270

C.240.75 D. 240
The pie chart below shows how Amos used

his monthly salary of sh

13860

How much more did he spend on food and
clothes than school fees?

A.Sh 1155 B.

Sh 1260

C.Sh 6300 D. Sh 4200

‘What is the next shape in the pattern below

N\
7

//}V

B
D.

7 N

7
yd
N
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